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THE MINISTER OF RAILWAYS (SHRI 

RAM VILAS PASWAN): (a) and (b) The 

Government is aware of the news report in the 

"Deccan Chronicle" dated 26th June 1997. 

However, the report as such is highly 

exaggerated and is not based on fectual 

position. Intensive senior level Special checks 

were made immediately after publication of 

the report. These were in addition to the regu-

lar checks being conducted to prevent such 

absenteeism. Action has been taken against 

those employees who were found absent 

during these diecks. 

Use of Wooden Sleepers 

2009. SHRI GURUDAS DAS GUP 

TA: Will the Minister of RAILWAYS be 

pleased to state; 

(a) whether Government are considering a 

proposal to change the Railways' policy of 

using wooden sleepers for meeting only ten 

percent of its needs and also the system of 

buying timber solely from the public sector; 

and 

(b) if so, the details thereof and reasons 

therefor? 

THE MINISTER OF RAILWAYS (SHRI 

RAM VILAS PASWAN): (a) No, Sir. 

(b) Does not arise. 

World Bank assistance for Mumbai Urban 

Transport Project 

2010. SHRI    PARMESHWAR 

KUMAR AGARWALLA: Will the 

Minister of RAILWAYS be pleased to 

state: 

(a) when the proposal to finance to second 

Phase of Mumbai Urban Transport Project 

was submitted to the World Bank by the 

Railway Ministry; 

(b) the details about the financial as-

sistance sought from World Bank and time-

schedule of the project; 

(c) whether the World Bank agreed to 

finance the project; and 

(d) if so, what is the present status; and if not, 

the reasons therefor? 

THE MINISTER OF RAILWAYS (SHRI 

RAM VILAS PASWAN): (a) No such 

proposal has been sent to the World Bank so 

far. 

(b) to (d) Do not arise. 
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